BQHWOPK

M

what is +he difference
be-twegn ?Y'.lC'e W

unit orice ¢



® 3C of electrons are
pushed +hrough a CICLAL

b\j o barH’eF% These mow'm%
electrms transfer 0T of
oroy into Yhe Ciccurt \hat
5 P bmﬁ@f%’s Voltuge. ¢
V- .L{L%._, = 21-(( 67V




@ How much current in a
jgh‘l'emﬂs STl Ke ‘H\Qi— J’WS’%[K

° olpetrons.  in 3D

MSGCDY\dS s
% L(DO;,) X)0 ﬁC X lo
I =

o DS
s 531000 A




RﬁSiSﬂJf‘ an item used 0
/’—_ -
& cireit o slow down
(“’du(e) P current.

R (ﬂ) AN




Qlf\m‘s Lauy (N/::ER]

\(oh%a/& aLr0SS O (€5 1SToF
S d)f‘fC—Hj P(‘OPDF'I'IO‘(\&'Q

TJC ‘H\g, CUrcent H\TO%’L‘




Series Cowit
_E> Oﬁitj {Fa.+h for (.Mrr‘r:n‘t
Ls everé%“‘ﬁ s mn ne?
Ls ‘?h&m& et s
rowdh ereryth.
\m‘ﬁ%ﬁ W‘% Iof}/)bd“

different |
Ls Add seqes resistors

4 o&,ﬁt an vivalent
resis tante

o(rsss

v __% 3%:[0 a+ha+30

Req= HHL2
= '
Ov=T(450)> L-03R4
s o)
(cenk

(Ase COhals law o each

Napraker

E M= (O-AQS!FDQOIL)
V= 2-22V

Rao V- (0.2;\@(!5@
\=3.33V

Ko \= (D-&@%@G@
V= 449V



